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var i, timeout2;

on({id
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192_163_173_85

192_168_178_86

192_168_178_80

var value = obj.state.val;

var oldValue = obj

setState("sonos.@.root.192 168 178 8@.favorites set”/*favorites_set®/, 'SWR3 Elchradio’);
etTimeout(function () {

timeout2 =

setState("sonos.

.oldState.val;

.root.192_168_178 80.state"/*state/, 'play');
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Javascript.@.Taster"/*Taster®/, change: "gt"}, function (obj) {

.root.192_168_178_81.coordinator"/*coordinator+/, '192_168_178_80");

.root.192_168_178_82.coordinator"/*coordinator*/, '192_168_178_80"
.root.192_168_178_83.coordinator"/*coordinator*/, '192_168_178_80"

.root.192_168_178_85.coordinator”/=coordinators/, '192_168_178_80"

.root.192_168_178_86.coordinator”/=coordinator=/, '192_168_178_80");
.root.192_168_178_8@.group_volume” /*group_volume®/, '2@');
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@

@

@

1, 580);
1
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on({id: "javascript.
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var oldValue = obj
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var value = obj.st
var oldValue = obj
for (i=0;i<=6
exec{ (String(str,
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ste.val;
.oldState.val;

.root.192 168_178_88.state"/*state*/, 'stop');

root.192_168_178_81.coordinator”/*coordinatort/,
root.192_168_178_81.volume"/*vclume*/, '28');
root.192_168_178_82.coordinator”/*coordinator=/,
root.192_168_178_82.volume"/=volume®/, '28');
root.192_168_178_83. coordinator”/*coordinator=/,
root.192_168_178_83.volume"/=volume®/, '28');
root.192_168_178_84. coordinator”/*coordinator=/,
root.192_168_178_84.volume"/=volume®/, '28);
root.192_168_178_85.coordinator”/*coordinator®/,
root.192_168_178_85.volume"/*vclume*/, '28');
root.192_168_178_86.coordinator”/*coordinator®/,
root.192_168_178_86.volume"/*vclume*/, '28');
root.192_168_178_8@.coordinator”/*coordinatort/,
root.192_168_178_8@.volume"/*vclume*/, '28');

'192_168 178_81');
"192_168_178_82");
"192_168_178_83');
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'192_168 178_86');

'192_168 178_88');

®.Taster"/*Taster*/, change: "gt"}, function (obj) {

ate.val;
.oldState.val;
;i) {

ing(' setState("sonos.8.root.192 168 178_8') + String(i)) + String('.coordinator”/*coordinator+/, \'192 168_178 80\')')));

©.Taster"/*Taster#/, change: "1t"}, function (obj) {

ate.val;
.oldState.val;
;i)

ing(String(’setState("sonos.@. root.192_168_178_8') + String(i)) + String(’.coordinator”/*ceordinator=s, \'192_168_178_8')) + String(String(i)

+ String("\1)7))));



